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[]:§iva L4V —4 [} R 3] GROSS | HDCP NET
& B EREE OIEE Bk 44 41 85 14.4 70.6
AR FrE ZEB £k 46 46 92 20.4 71.6
3L B F— Bk 39 43 82 9.6 12.4
AL =5 EHP £k 40 39 79 6.0 73.0
b{iL EEE =T £k 38 39 77 3.6 73.4
613z g 1E— £k 45 42 87 13.2 73.8
Ifvs ERE D £k 40 40 80 6.0 74.0
8L s MR £k 46 46 92 18.0 74.0
9L ®BEE BE £k 38 40 78 3.6 74.4
1013z kAR B— £k 41 43 84 9.6 74.4
1141 HHE P £k 41 41 82 7.2 74.8
12141 40 42 82 7.2 74.8
1311 Fiffs BES £k 40 41 81 6.0 75.0
1441 B AH Bk 43 44 87 12.0 75.0
15131 HEO %% £k 43 44 87 12.0 75.0
1611 50 49 99 24.0 75.0
17141 40 40 80 4.8 75.2
1811z Eixs i) £k 43 42 85 9.6 75.4
19111 =& FB e 43 42 85 9.6 75.4
201z Xa xR Bk 47 44 91 15.6 75.4
2111 fEpE —PHER £k 43 40 83 7.2 75.8
2211 BR B £k 49 45 94 18.0 76.0
2311 I £k 40 40 80 3.6 76.4
2441 kB B=F £k 44 42 86 9.6 76.4
2511 g BRE £k 46 44 90 13.2 76.8
2611 kB = £k 43 45 88 10.8 77.2
2711 kB =R £k 44 43 87 9.6 77.4
2811 Kl FHt £k 47 45 92 14.4 77.6
2941 wHE B BR 50 48 98 20.4 77.6
3013z BE KT £k 44 41 85 7.2 77.8
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311 ELR =T £k 45 46 91 13.2 77.8
321 ®A B Bk 43 41 84 6.0 78.0
331z TE FB Bk 48 48 96 18.0 78.0
3441 +8H =5 Bk 45 49 94 15.6 78.4
3511 BR R Bk 47 47 94 15.6 78.4
361iL FE =B £k 48 46 94 15.6 78.4
3711 K% tHh—EB B 49 47 96 16.8 79.2
381z FIER  =EZ £k 52 55 107 27.6 79.4
391z NS B 52 46 98 18 80.0
401z g AR £k 58 53 111 27.6 83.4




